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Importance of initial stages
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v, in non central collisions: energy loss in early times modifies it a lot
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Medium-induced gluon spectrum
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* Emission spectrum off a parton with energy E of a soft gluon (BDMPS-2):
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W = 2W%}QRe/ dt/ dt/pqp q K(t'.q:t,p)P(c0. k:t',q)

* Recently, new method with no analytical approximations (such as Harmonic
Oscillator or First Opacity -GLV-)
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Delay in medium production

No delay: medium of size L
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Delay: vacuum until t ; and medium from ¢, to L

No delay L —t, : medium of size L—t,
(employed in phenomenology)
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All the emissions are medium induced, pure vacuum already subtracted
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“ Results 2: full spectrum
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